(01)

2x1=1x2=2
2x2=4
2x5=10
2x7=14

2x10=10x2=20
2x25=50
2x50=100
2 x 100 =200

e Compléete : (Plusieurs réponses possibles pour la derniére colonne)

3x8=24 6x3=18 4x9=236 6x2=24 4x8=232
b6x4=24 bx7=235 10x3=30 | 8x5=40 IxT=2]
3x9=27 6x2=12 O0x2=0 2x9=18 4x9 =236
6x5=30 8x4=32 Ix4=12 10x2=20 | 3x5=15
5x10=150 9x2=18 1 x8=8 8x4=32 5x9 =45
2x8=16 3x7=2] S5xF=35 5x9=45 | 5x10=50
?x5=45 4x4=16 3x6=18 6x5=30 3x3=9
4x7 =28 2x5=10 4x9 =236 7/ x3=21 4x7 =128
8x4=32 2x2=4 9x1=9 3x10=30 | 3x10=30
7 X3 =21 3x8=24 | 4x10=40 IX3I=9 4x4=16
2x7 =14 3x7 =21 3x5=15 2x2=4 4x0=0
2x6=12 4x9 =236 8x4=32 4x6=24 2x5=10
4x3=12 6x0=0 2x5=10 7/ x4=28 8 x 8 = 64
5x5=25 2x8=16 2x9=18 3x8=24 9x9 =8I
3x5=15 8x0=0 9x1=9 9x5=45 7 X7 =49
6x5=30 4x5=20 5x5=25 4x7 =28 5x5=25
8x5=40 4x4=16 4x8 =32 3x6=18 |10x10=100
4x2=8 3Ix9=27 5x7=35 9x3=27 / x8 =56
2x10=20 | 4x8=32 9x4=236 5x8=40 8x9 =72
e Complete les tables ci-dessous :

X10|1(23|4/|5 X120 /|15 )|3 |4
0Jj]o0o|O0O|]0O]|]0O0O|0]O0 418 | 0| 4]|20(12]16
110|123 |4]|5 20140 | 0 |20 |100| 60 | 80
210|246 )| 810 0]J]0]0]0]0]0]|O0
310|369 12|15 10§20 O | 10|50 |30 | 40
4 10| 4|8 |12|16]20 2140|210 6| 8
5105 1015|2025 51100 | 5125|15]|20
10§ O | 10| 20|30 | 40 | 50 1120 . 1135|383 ] 4
201 O | 20 | 40 | 60 100 3160 3115 9 112

80




